
Answer to Question #74239, Physics / Electric Circuits 

5. Calculate the energy stored in the capacitor 𝐶0 below. 
 

 
 
Solution. 
 

𝑊 =
𝐶0𝑈𝐴𝐵

2

2
 

 
For contour 𝐴𝐷𝐶𝐵: 
 

𝑈𝐴𝐵 = 5𝐼𝐴𝐷 + 𝐼𝐷𝐶 + 2𝐼𝐶𝐵  
 
For point 𝐴: 
 

𝐼𝐴𝐷 = 1 + 2 = 3 𝐴 
 
For point 𝐷: 
 

𝐼𝐷𝐶 = 𝐼𝐴𝐷 = 3 𝐴 
 
For point 𝐵: 
 

𝐼𝐶𝐵 = 2 − 1 = 1 𝐴 
 
Then: 
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𝑈𝐴𝐵 = 5 ∙ 3 + 3 + 2 = 20 𝑉 
 
Answer: 
 

𝑊 =
4 ∙ 10−6 ∙ 202

2
= 8 ∙ 10−4 𝐽 

 
 
 
 
 
 
 
 
 

3. Find the current flowing through the circuit. 
 

 
 

Solution. 
 
For contour 𝐴𝐵𝑌𝑋: 
 

𝐼2 − 𝐼1 = 𝐸𝑋𝑌 − 𝐸𝐴𝐵 = 8 − 10 = −2 
 
For contour 𝐴𝐵𝑄𝑃: 
 

8𝐼 + 𝐼1 = 𝐸𝐴𝐵 = 10 
 
For point 𝐴: 
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𝐼 = 𝐼1 + 𝐼2 

 
Then: 
 

𝐼2 = 𝐼1 − 2 
 

{
8𝐼 + 𝐼1 = 10
𝐼 = 2𝐼1 − 2

 

 
17𝐼 = 18 

 
Answer: 
 

𝐼 =
18

17
 𝐴 

 

𝐼1 = 10 − 8𝐼 = 10 − 8 ∙
18

17
=

26

17
 𝐴 

 

𝐼2 = 𝐼 − 𝐼1 =
18

17
−

26

17
= −

8

17
 𝐴 

 
 
 
 
 
 

4. Calculate the value of current in the section of networks below. 
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Answer: 
 
For point 𝐷: 
 

𝐼3 = 8 − 5 = 3 𝐴 
 
For point 𝐴: 
 

𝐼2 = 15 − 8 = 7 𝐴 
 
For point 𝐵: 
 

𝐼4 = 𝐼2 + 3 = 7 + 3 = 10 𝐴 
 
For point 𝐶: 
 

𝐼1 = 𝐼4 + 𝐼3 = 10 + 3 = 13 𝐴 
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